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PSC Misc. (Prelims) Exam. – Practice Set

Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (b) Ÿ‰þ#w˜yí î¢% !Šéöìœ˜ ¦þyîûöì“þîû ßþºy•#˜“þy xyöì̈ yœöì̃ îû „þ›Å#
~î‚ ¢Äyîû ¢%öìîûw˜yí îöì¨Äyþ™y•Äyöìëûîû x˜%¢yîû#Ð 1905
!…ÊÞÝþyöì·îû 4 ˜öì¦þÁºîû xÄy!rÝþ ¢y„%Åþœyîû ö¢y¢y£z!Ýþ †àþ˜ „þöìîû̃ Ð
!“þ!˜ ö¢£z ö¢y¢y£z!Ýþîû ö¢öìe«Ýþy!îû ~î‚ „,þ¡Œ „%þ›yîû !›eéôéîû
¢¦þyþ™!“þ £˜Ð

2. (b) „þÄyœ„þyÝþy ö›!vþöì„þœ „þöìœ‹ 1835 !…ÊÞÝþyöì· îöìvþüyœyÝþ œvÅþ
vþz£z!œëûy› öî!rÝþBþéôé~îû ¢›ëû ßþiy!þ™“þ £ëûÐ ç£z îŠéîû£z ›%Áºy£zöìëû
~œ!šþ˜öìÞÝþy˜ ö¢rÝþ ö‹!¦þëûy¢Å „þöìœ‹ ²Ì!“þ!Ûþ“þ £ëûÐ

3. (a) ¢Äyîû öî˜†yœ ˜îû!¢‚ îûyç !“þ!˜ !Šéöìœ˜ ~„þ‹˜ ¦þyîû“þ#ëû
x¢y›!îû„þ „þ›Å‰þyîû#– xy£z̃ !î”– „)þÝþ˜#!“þ„þ ~î‚ îûyÜTÉ̃ yëû„þÐ
!“þ!˜ 1950-1952 þ™ëÅhsþ ‹y!“þ¢‚öì‡îû ¢%îûÇþy „þyvþz!ªöìœ
¦þyîûöì“þîûû ²Ì!“þ!˜!• !Šéöìœ˜Ð

4. (c) ”!Çþ’ ¦þyîûöì“þîû !î”Äy¢y†îû ˜yöì› x!¦þ!£“þ „þîûy £ëû
î#îû¢y!œD›öì„þÐ !“þ!˜ !Šéöìœ˜ “þy!›œ ˜î‹y†îûöì’îû ‹˜„þÐ

5. (d) 1945 ¢yöìœîû ‹˜†öì’îû þ™!îû„þÒ˜y (People's Plan) ~îû
îû*þ™öìîû…y ÷“þ!îû „þöìîû̃  ›y˜öìîw îûyëûÐ 1920 ¢yöìœîû 17
xöìQyîîû ö¢y!¦þöìëû“þ £zvþ z!˜ëûöì˜îû “þy¢…öì¨ ¦þyîûöì“þîû
„þ!›vþz!˜ÞÝþ þ™y!ÝÅþ †àþ˜ „þöìîû̃ Ð

6. (c) 16 ö¢öì²WzÁºîû ¢yîûy !îÙ»‹%öìvþü þ™y!œ“þ £œ !îÙ» çöì‹y˜
!”î¢Ð ~îŠéîû ~£z !”îöì¢îû !í› £œéôô ‘‘Ozone for Life :
35 Years of Global Cooperation’’Ð

7. (a) îûy›†Dy ˜”# ²Ì„þÒ!Ýþ vþz_îûy…öì[þ xî!ßþi“þÐ vþz_îûy…öì[þîû
îûy‹•y˜# £œ ö”îûy”%̃ Ð

8. (b) „þy£zöìîûy¢ vþzþ™˜Äyöì¢îû ‹˜Ä ö‹!˜ ~îûöìþ™˜öìî„þ ~î‚ ›y£zöì„þœ
£šþ›Äy˜öì„þ 2024 ¢yöìœîû xyhsþ‹Åy!“þ„þ î%„þyîû þ™%îûßþñyîû ²Ì”y˜
„þîûy £ëûÐ

9. (a) ‰þÇ%þ ”yöì̃ îû öÇþöìe ”y“þyîû ö‰þyöì…îû „þ!˜Åëûy ²Ì!“þßþiy!þ™“þ £ëûÐ
10. (a) x@ÀÄyŸëû îû¢ £œ Çþyîû#ëûÐ x@ÀÄyŸëû îûöì¢îû PH £œ

8.3-8.6Ð
11. (c) šþöìÝþy@ùÌy!šþîû „þyöì‹ !¢œ¦þyîû öîÊy›y£zvþ îÄî£*“þ £ëûÐ
12. (b) £#îûöì„þîû vþzF‰þ ²Ì!“þ¢îûyöìBþîû ‹˜Ä ~„þ!Ýþ ›)œÄîy˜ îûbîû*öìþ™

îÄî£*“þ £ëûÐ
13. (b) 1 ~!²Ìœ 1935

1921 ¢yöìœ !“þ˜!Ýþ ö²Ì!¢öìvþ!ª îÄyBþ ~„þ!e“þ £öìëû ¦þyîûöì“þ
£zöìÁ™!îûëûyœ îÄyBþ ²Ì!“þÛþy £ëûÐ
1926 ¢yöìœ !£ÎÝþ˜ £zëû‚ „þ!›Ÿöì̃ îû ¢%þ™y!îûöìŸ 1934 ¢yöìœ
!îû‹y¦Åþ îÄyBþ ²Ì!“þÛþyîû !¢kþyhsþ ‰)þvþüyhsþ £ëûÐ

14. (b) xyœ% „þyöì[þîû îû*þ™yhsþîûÐ ~Šéyvþüy çœ– !þ™¥ëûy‹– îû¢%̃ – xy”y–
£œ%” ²Ì¦,þ!“þ „þyöì[þ îû*þ™yhsþ!îû“þ £ëûÐ

15. (c) œyœyîûöì¢ vþzþ™!ßþi“þ „þyöìîÅy£y£zöìvÈþÝþ îy öÙ»“þ¢yîû !î¦þy‹„þ
vþzêöì¢‰þ„þ £œ Ýþyëûy!œ˜– ›œöìÝþy‹ ²Ì¦,þ!“þÐ

16. (c) £z!uþëûy˜ !²Ì!›ëûyîû !œöì†îû ö›yÞÝþ ¦þÄyœ%öìëûîœ ö²Õëûyîû £öìœ˜
¢%̃ #œ ˜y!îû̃ Ð „þœ„þy“þy ˜y£zÝþ îûy£zvþy¢Å 2024 ¢yöìœîû IPL
T-20 ‰þÄy!Á™ëû̃ !Ÿþ™ !‹“þœÐ

17. (b) DNAôéö“þ £zvþzîûy!¢œ íyöì„þ ˜yÐ
18. (b) ¦þyîûöì“þ Agricultural Price Commission 1965 ¢yöìœ

†!àþ“þ £ëûÐ ~!Ýþîû ö£vþ ö„þyëûyÝÅþyîû !˜vþz !”!ÍÔöì“þ xî!ßþi“þÐ
19. (c) vþz£z̃ ÞÝþ˜ ‰þy!‰Åþœ †y!õþ‹#öì„þ òx•Å vþzœD !¦þÇ%þ„þó îöìœ x!¦þ!£“þ

„þöìîû!Šéöìœ˜Ð !“þ!˜ ë%_«îûyöì‹Äîû !m“þ#ëû !îÙ»ë%kþ ‰þœy„þyœ#˜
²Ì•y˜›sþf# !£öì¢öìî þ™!îû!‰þ“þÐ 1953 ¢yöìœ !“þ!˜ ¢y!£öì“þÄ
ö˜yöìîœ þ™%îûßþñyîû œy¦þ „þöìîû̃ Ð ²Ìí› ‹#îöì̃  !“þ!˜ !îÊ!ÝþŸ
ö˜ïîy!£˜#îû ¢”¢Ä !Šéöìœ˜Ð

20. (b) !î‰þyîûþ™!“þöì”îû öî“þ˜ ç ¦þy“þy ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû !m“þ#ëû
“þšþ!Ÿœ¦%þ_« !î¡ìëûÐ

21. (a) ›£ydy †yõþ# !…œyšþê xyöì¨yœ˜öì„þ ¢›íÅ˜ „þöìîû!Šéöìœ˜
!îÊ!ÝþŸöì”îû !îîû&öìkþ ›%¢!œ›öì”îû ¢›íÅ̃  xy”yëû „þîûîyîû ‹˜ÄÐ

22. (d) !Ÿ¢y!”ëûy îûy‹þ™%“þ xMþéœ xy„þîöìîûîû îŸÄ“þy ßþº#„þyîû „þöìîû!˜Ð
îûy‹y vþz”ëû !¢‚£ xy„þîöìîûîû îŸÄ“þy ßþº#„þyîû „þöìîû!˜Ð

23. (a) „þy!œ”yöì¢îû ò›yœ!î„þy!@À!›e›ó ˜yÝþöì„þîû ö„þw#ëû ‰þ!îûöìe
!Šéöìœ˜ x!@À!›eÐ !m“þ#ëû ‰þw=® îy !îe«›y!”öì“þÄîû
îûy‹¢¦þyëû ˜îîûöìbîû ›öì•Ä ~„þ‹˜ !Šéöìœ˜ !“þ!˜Ð “¤þyîû îû‰þ˜yëû
!m“þ#ëû ‰þw=öì®îû îûy‹Ä– îûy‹•y˜# vþzI!ëû̃ # ç îûy‹¢¦þyîû
vþzöìÍÔ… þ™yçëûy ëyëûÐ

24. (b) ¢y“þœ%‹ ‹œ !î”%Äê !˜†› !£›y‰þœ ²Ìöì”öìŸîû ˜yþ™íy Gþy„þ!îû
£y£zöìvÈþyþ™yçëûyîû öÞÝþŸöì̃  ¦þyîûöì“þîû ²Ìí› ¢î%‹ £y£zöìvÈþyöì‹˜
þ™y£zœÝþ ²Ì„þÒ ‰þyœ% £œÐ

25. (d) ›yoy‹ ›£y‹˜ ¢¦þyîû ²Ì!“þÛþy £ëû 1884 ¢yöìœÐ ~›. î#îû
îûy‡î‰þy!îûëûy– !‹ ¢%¼›!˜ëûy› xy£zëûyîû ~î‚ !þ™. xy˜¨‰þyîûœ%
›yoy‹ ›£y‹˜ ¢¦þy †àþ˜ „þöìîû̃ Ð

26. (d) ¦þyîûöì“þîû þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y ‰)þvþüyhsþ¦þyöìî x %̃öì›y”˜ „þöìîû̃
‹y“þ#ëû vþz§¬ëû̃  þ™¡ìÅ”Ð

27. (c) Ÿy¢˜“þy!sþf„þ ²Ì!“þ„þyöìîûîû x!•„þyîûöì„þ Sö›ï!œ„þ x!•„þyîûV vþƒ
xyöìÁº”„þîû ¢‚!î•yöì˜îû £*”ëû ç xydy îöìœ x!¦þ!£“þ
„þöìîûöìŠé˜Ð vþƒ !î xyîû xyöìÁº”„þîû ¢‚!î•yöì̃ îû …¢vþüy „þ!›!Ýþîû
¢¦þyþ™!“þ !Šéöìœ˜Ð

28. (c) ¦þyîû“þ#ëû xíÅîÄîßþiyëû !šþ¢„þÄyœ ‡yÝþ!“þîû •yîû’y!Ýþ ¢îÅ²Ìí›
¢%…›ëû ‰þe«î“Åþ# „þ!›!Ýþîû ¢%þ™y!îûöìŸ †,£#“þ £ëûÐ

29. (d) îûDîûy‹˜ „þ!›!Ýþ ¦þyîûöì“þîû „þîû îÄîßþiyîû ¢öìD ¢Á™!„Åþ“þ ˜ëûÐ
30. (b) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 19(1)B •yîûyëû !î˜y xöìßþf Ÿy!hsþþ™)’Å¦þyöìî

¢›öìî“þ £îyîû x!•„þyîû!Ýþ ˜y†!îû„þöì”îû ²Ì”y˜ „þîûy £öìëûöìŠéÐ
~!Ýþ ¢‚!î•yöì˜ ö›ï!œ„þ x!•„þyîû !£öì¢öìî !‰þ!£«“þ £öìëû
xyöìŠéÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

31. (a) ¦þyîûöì“þîû ²Ìí› þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜y„þyöìœ ¢îÅ²Ìí› þ™!îûîyîû
þ™!îû„þÒ˜yîû „þ›Å¢)!‰þ †,£#“þ £ëûÐ ~£z þ™!îû„þÒ˜yëû „,þ!¡ì„þyöì‹îû
çþ™îû öî!Ÿ =îû&c xyöìîûyþ™ „þîûy £ëûÐ

32. (b) ‹yþ™y˜ ¦þyîû“þ#ëû þ™ëÅÝþ„þöì”îû ‹˜Ä £zéôé!¦þ¢y ‰þyœ% „þîûœÐ
33. (c) ¢%œ“þy!˜ ë%öì†îû ›!£œy Ÿy¢„þ !Šéöìœ˜ ¢%œ“þy˜y îûy!‹ëûyÐ

£zœ“%þê!›öì¢îû ›,“%þÄîû þ™îû ¢yÁËy‹Ä ”%îÅœ £öìëû þ™vþüöìœ !“þ!˜
!”!ÍÔîû !¢‚£y¢˜ xyöìîûy£˜ „þöìîû˜ S1236 !…ÊƒVÐ !“þ!˜
ë%kþ!î”Äy– Ÿy¢˜„þyëÅ þ™!îû‰þyœ˜y– xÙ»yöìîûy£˜ ¢öìîöì“þ£z ”Çþ
!Šéöìœ˜Ð

34. (c) ö†!›vþzöìœîû ¢y£yöìëÄ ßþ™O xöìëï˜ ‹˜˜ ¢Á™§¬ „þöìîûÐ ßþ™O
²Ì‹y!“þîû ²Ìy’#îûy ¢y•yîû’“þ ¢y›%!o„þ ~î‚ x²Ì!“þ¢› ²Ìy’#Ð
~îûy xy!”› îýöì„þy¡ì# ²Ìy’#Ð

35. (c) ßþºöì¦þy‹# ç þ™îûöì¦þy‹# vþz¦þëû²Ì„þyîû þ™%!ÜT¢Á™§¬„þyîû# vþz!q”!Ýþ
£œ „þœ¢þ™e#Ð

36. (c) ”%!Ýþ x¢›y„,þ!“þ †Äyöì›öìÝþîû !›œ˜öì„þ xÄy˜y£zöì¢y†Äy!› îöìœÐ
37. (b) šþyëûyîû ö„Ïþ þ™yçëûy ëyëû þ™!Øþ›îöìDîû îûy!˜ì†öìOÐ
38. (d) ¦þyîûöì“þîû î,£_› öþ™öìÝþÆy îû¢yëû̃  !ŸÒöì„þw!Ýþ †öìvþü vþzöìàþöìŠé

¦þyöì”y”îûyëûÐ ~!Ýþ =‹îûyöìÝþ xî!ßþi“þÐ
39. (d) Union Constitution Committeeéôéîû ö‰þëûyîû›Äy˜ !Šéöìœ˜

þ™![þ“þ ‹ç£îûœyœ ö˜öì£îû&Ð !“þ!˜ ßþºy•#˜ ¦þyîûöì“þîû ²Ìí›
²Ì•y˜›sþf# !Šéöìœ˜Ð

40. (d) ‹y!“þ¢‚öì‡îû “þîûöìšþ 25 ö› !”˜!Ýþöì„þ çëûyÓÅþ š%þÝþîœ övþ
!£öì¢öìî ö‡y¡ì’y „þîûy £œÐ

41. (c) x!ÞÝþç›Äyöìœ!¢ëûy öîûy†!Ýþ !¦þÝþy!›˜ Déôé~îû x¦þyöìî £ëûÐ ~£z
öîûyöì† £yvþü ¦þD%îû ç ˜îû› £öìëû ëyëûÐ

42. (c) RNAéôéö“þ xÄy!vþ!˜˜ £zvþzîûy!¢œéôé~îû ¢yöìí ö‹yvþü î¤yöì•Ð
RNA ~îû þ™%öìîûy ˜y› Ribonuclic AcidÐ ~!Ýþ xy!îÜñyîû
„þöìîû̃  vþz£z!œëûy› öî£z¢˜ 1905 ¢yöìœÐ

43. (a) ~£z x‚öìŸîû „þy‹ ²Ì•y˜“þ £*”ßþ™¨˜ Ù»y¢!e«ëûy– …y”Ä @ùÌ£’–
‡y› !˜ƒ¢îû’ ²Ì¦,þ!“þ Ÿyîû#îûî,_#ëû !e«ëûy=!œöì„þ !˜ëûsþf’ „þöìîûÐ

44. (a) ‡Êy’ !˜ëûsþf’„þyîû# ßþ¬yëû%îû ˜y› £œ xœšþÄyQ!îûÐ
45. (d) ö@Õyöì›îû&œy¢– „þÄyþ™!¢vþzœ ›•Äßþi „%þ[þœ#„,þ“þ öîû̃ yœ •›˜#„þyîû

‹yœ„þ !îöìŸ¡ìÐ ö@Õyöì›îû&œyöì¢îû ›öì•Ä ”)!¡ì“þ öîû‰þ˜ þ™”yíÅë%_«
îûöì_«îû þ™!îûßþËyî˜ îy þ™!îû×&“þ £ëûÐ

46. (c) þ™ëÅyî,_ †!“þÐ
47. (c) îyœ†Dy•îû !“þœ„þöì„þ òòšþy”yîû xšþ £z!uþëûy˜ xy˜öìîûÞÝþó ˜yöì›

x!¦þ!£“þ „þöìîû̃  ¦þÄyöìœrÝþy£z̃  !‰þöìîûyœÐ ›£ydy †yõþ# “¤þyöì„þ
xy•%!˜„þ ¦þyîûöì“þîû ßþËÜTy îöìœ ¢Á¿y!˜“þ „þöìîû̃ Ð

48. (a) UPSC ~îû ˜“%þ˜ ö‰þëûyîûþ™y¢Å̃  !£öì¢öìî !˜ë%_« £öìœ˜ ²Ì#!“þ
¢%”y˜Ð !“þ!˜ ›öì̃ y‹ ö¢y!˜îû ßþiyöì̃  ßþiœy!¦þ!¡ì_« £öìœ˜Ð
!“þ!˜ 1983 îÄyöì‰þîû ~„þ‹˜ IAS x!šþ¢yîû !Šéöìœ˜Ð

49. (b) ›y”y› îÏy¦þyÝþ!ßþñ ~î‚ ~£z‰þ ~¢ çœ„þÝþ
1879 !…ÊÞÝþyöì· xyëÅ ¢›yöì‹îû xy›sþföì’ ›y”y›  îÏy¦þyÝþ!ßþñ ç
„þöì̃ Åœ çœ„þÝþ ¦þyîûöì“þ xyöì¢˜ ~î‚ ›yoyöì‹îû xy!vþëûyöìîû

¢›%o vþzþ™„)þöìœ !íç¢!šþ„þÄyœ ö¢y¢y£z!Ýþîû ¦þyîû“þ#ëû Ÿy…y!Ýþ
1886 !…ÊÞÝþyöì· ßþiyþ™˜ „þöìîû!Šéöìœ˜Ð

50. (c) 1865 !…ÊÞÝþyöì· ¦þyîûöì“þîû ¦þy£z¢îûëû ‹˜ œöìîûöìªîû ¢›öìëû
„þœ„þy“þy– öîyöìÁº ç ›yoy‹ £y£zöì„þyÝÅþ ßþiy!þ™“þ £ëûÐ

51. (a) ö„þ !¢ ö£yëûyîû
“þê„þyœ#˜ ö²ÌÇþyþ™Ýþ ~î‚ ö¢£z ¢›ëû„þyîû !„þŠ%é ”%ƒ…‹˜„þ
‡Ýþ˜yîû ö‹öìîû ¦þyîû“þöì„þ ~„þîy”# ö”Ÿ !£öì¢öìî †öìvþü ö“þyœyîû
‹˜Ä ëöìíÜT ‰þyþ™ !ŠéœÐ ²Ìîœ !î“þöì„Åþîû þ™îû †’þ™!îû¡ì” ¦þyîû“þöì„þ
~„þ!Ýþ •›Å!˜îûöìþ™Çþ ¢y•yîû’“þsþf !£öì¢öìî ö‡y¡ì’y „þöìîûÐ ¢‚…Äy
œ‡%öì”îû x!•„þyîû ¢%!˜!Øþ“þ „þîûöì“þ îÄîßþiy „þîûy £ëû îûÇþy
„þîöì‰þîûÐ

52. (b) ”Ÿ› þ™!îû„þÒ˜yîû ¢›ëû„þyöìœ 2005 ¢yöìœÐ
53. (b) ßþºöìÒy§¬“þ ö”Ÿ ç vþz§¬“þ ö”öìŸîû ÷î!ŸÜTÄ=!œ ~öì„þ xþ™öìîûîû

¢yöìí !›öìŸ íyöì„þÐ
54. (b) 1299 ¢yöìœ xyœyvþz!j˜ …œ‹# =‹îûyÝþ ”…œ „þöìîû̃  ~î‚

“þ¤yîû ö¢˜yþ™!“þ ˜%¢îûy“þ …y˜ ~£z ›y!œ„þ „þyš%þîûöì„þ !˜öì‹îû
”y¢ îy˜y˜Ð

55. (c) x›îûöì„þy¡ì x›îû !¢‚£ ²Ì’#“þ ¢‚ßþ,ñ“þ ö„þy¡ìÐ ~!Ýþ ²Ìy‰þ#˜“þ›
¢‚ßþ,ñ“þ ö„þy¡ì=!œîû ›öì•Ä ~„þ!ÝþÐ x›îûöì„þyöì¡ìîû ²Ìyëû 40!Ýþîûç
x!•„þ •yîûy¦þy¡ìÄ îûöìëûöìŠéÐ

56. (c) 2024 ¢yöìœîû ö@Õyîyœ ÞÝþyÝÅþxyþ™ ¢y!›öìÝþîû ¢®› ¢‚ßþñîû’
x˜%!Ûþ“þ £œ !”!ÍÔöì“þÐ ~£z ¢öìÁ¿œöì̃ îû vþzöìjŸÄ £œ ÞÝþyÝÅþxyþ™
~î‚ !î!˜öìëûy†„þyîû#öì”îû ›öì•Ä îÄî•y˜ ”)îû „þîûyÐ

57. (c) îyöìëûy†Äy¢ £œ þ™‰þ˜Ÿ#œ ÷‹îîlßþ¢›)£ £öì“þ ÷“þ!îû †Äy¢Ð
þ™Öîû ö†yîîû ç x˜Äy˜Ä þ™‰þ˜Ÿ#œ þ™”yíÅ îy“þyöì¢îû
x˜%þ™!ßþi!“þöì“þ þ™‰þyöì̃ yîû šþöìœ öë †Äy¢ ÷“þ!îû £ëû “þy£z £œ
îyöìëûy †Äy¢Ð “þöìî îyöìëûy†Äyöì¢ x!•„þ þ™!îû›yöì’ !›öìí˜ ²Ìyëû
60% íyöì„þÐ ~Šéyvþüy „þyîÅ̃  vþy£zx:y£zvþ CO

2
, H

2
S ~î‚

‹œ#ëû îyÜ™ H
2
O íyöì„þÐ

58. (b) òòxy˜Ý%þ !”¢ œyÞÝþóó î£z!Ýþ öœöì…˜ ‹˜ îûy¢!„þ˜Ð
59. (b) ~„þ!Ýþ !m“þsþf# DNA ~îû „%þuþœ#îû îÄy¢ 20ÅÐ DNA xíÅyê

!vþéôéx!:îûy£zöìîy !˜vþz!„Ïþ„þ xÄy!¢vþ ~!Ýþ ‹#îöì”öì£îû †àþ˜ ç
!e«ëûy„þœyþ™ !˜ëûsþföì’îû !‹˜†“þ !˜öì”ÅŸ •yîû’ „þöìîûÐ

60. (b) Gþyvþü…öì[þîû þ™y˜!Ÿîûyî%îû& öíöì„þ vþzöì_yœ˜ „þîûy £ëû xy„þ!îû„þ
öœy£yÐ

61. (a) ›öìrÝþ= ö‰þ›¢öìšþyvÅþ ‰%þ!_«îû ›)œ vþzöìjŸÄ !Šéœ ÷m“þ Ÿy¢˜“þsþfÐ
1919 !…ÊÞÝþyöì· !îÊ!ÝþŸ ¢îû„þyîû ~£z ¢‚ßþñyîû xy£z̃ ²Ìî“Åþ˜
„þöìîû̃ Ð

62. (b) £z!uþëûy˜ !¢!¦þœ ¢y!¦Åþöì¢ öëy† ö”çëûyîû ‹˜Ä œvÅþ vþyœöì£ï!¢
²Ì!“þöìëy!†“þy›)œ„þ þ™îû#Çþyîû îÄîßþiy „þöìîû!Šéöìœ˜Ð !“þ!˜
òßþºc!îöìœyþ™ ˜#!“þó ²Ìî“Åþ˜ „þöìîû!Šéöìœ˜Ð

63. (c) G
1
éôévþzþ™”Ÿyëû

64. (b) ¢Á±!“þ œ%£z¢ ›!rÝþ!˜öì@ùÌy þ™“Å%þ†yöìœîû ˜“%þ˜ ²Ì•y˜›sþf# !£öì¢öìî
!˜ë%_« £öìœ˜Ð !“þ!˜ ~„þ‹˜ xy£z̃ ‹#!î !Šéöìœ˜Ð !“þ!˜ 79!Ýþ
xy¢öì̃  ‹ëûœy¦þ „þîûöìœ˜Ð

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

65. (d) çþ™öìîûîû ¢î=!œ£z
66. (c) xÄy!¢!Ýþ!œ˜ (C

2
H

2
) Gþyœy£zöìëûîû „þyöì‹ ç „,þ!e› vþzþ™yöìëû

šþœ þ™y„þyöì̃ yîû „þyöì‹ îÄî£*“þ £ëûÐ
67. (c) öœy„þ¢¦þyîû ßþ™#„þyîû

•yîûy (93) ¢‚¢”#ëû „þyëÅîœ#öì“þ ßþ™#„þyîû ÷m“þ ”y!ëûc þ™yœ˜
„þöìîû̃ Ð

68. (d) ˜yí%œy þ™y¢ ¦þyîû“þ ç ‰þ#öì̃ îû ›öì•Ä ~„þ›ye ßþiœ ¢#›yhsþ þ™íÐ
¦þyîû“þéôé‰þ#˜ þ™í!Ýþ !£›yœöìëûîû 14425 š%þÝþ vþz¤‰%þöì“þ xî!ßþi“þÐ

69. (a) îûy‹Ä !˜îÅy‰þ˜ „þ!›Ÿ˜yîû !˜öìëûy† „þöìîû̃  îûy‹Äþ™yœÐ
70. (b) Why Am I am Atheist @ùÌsþi!Ýþîû öœ…„þ ¦þ†ê !¢‚Ð
71. (a) x•Äyþ™„þ îûöì›Ÿ‰þw ›‹%›”yîû xyîû !¢ ›‹%›”yîû ˜yöì›£z

þ™!îû!‰þ“þÐ !“þ!˜ 1936-1942 ¢yœ þ™ëÅhsþ ‘þy„þy !îÙ»!î”Äyœöìëûîû
vþzþ™y‰þyëÅ !Šéöìœ˜Ð

72. (d) „þyöìœÅy¢ ¢yO F1 xöìßþTÉ!œëûy˜ @ùÌÄyuþ !²Ìöì: ‹ëûœy¦þ „þîûöìœ˜Ð
73. (b) èîûDöì‹î

=îû& ö“þ† îy£y”%îû Ÿ£#” !”î¢ þ™yœ˜ „þîûy £ëû 24 ˜öì¦þÁºîûÐ
!“þ!˜ !Šéöìœ˜ ˜î› !Ÿ… =îû&Ð

74. (b) þ™!Øþ!› GþPyîû ²Ì¦þyöìî Ÿ#“þ„þyöìœ î,!ÜTþ™y“þ £ëû þ™yOyöìîÐ
Ÿ#“þ„þyöìœ ¦)þ›•Ä¢y†îû öíöì„þ xy†“þ ”%îÅœ ‡)̃ Åyîöì“Åþîû ²Ì¦þyöìî
vþz_îû ç vþz_îû þ™!Øþ› ¦þyîûöì“þîû þ™yOyî– £!îûëûy˜y– îûy‹ßþiy˜
²Ì¦,þ!“þ îûyöì‹Ä £yœ„þy î,!ÜTþ™y“þ £ëûÐ ›yöìGþ›yöìGþ ~!Ýþ òþ™!Øþ›#
GþPyó ˜yöì› þ™!îû!‰þ“þÐ

75. (a) “þy®# ¢y“þþ™%îûy þ™îÅ“þ öíöì„þ vþzêþ™§¬ £öìëûöìŠéÐ “þy®# ˜”#
›£yîûyÜTÉ– =‹îûyÝþ ç ›•Ä²Ìöì”Ÿ îûyöì‹Äîû ›•Ä !”öìëû ²Ìîy!£“þ
£öìëûöìŠéÐ “þy®# ˜”#îû ÷”‡ÅÄ 724 !„þ!›Ð

76. (b) •!îû–
1

2
× Sö›öìëûîû ¦þy†V =

1

4
 × Sßþf#îû ¦þy†V

=
1

5
 × SöŠéöìœîû ¦þy†V = x

“þy£öìœ ö›öìëûîû ¦þy† = 2x Ýþy„þy– ßþf#îû ¦þy† = 4x Ýþy„þy ~î‚
öŠéöìœîû ¦þy† = 5x
ö›öìëûîû ¦þy† ­ ßþf#îû ¦þy† ­ öŠéöìœîû ¦þy†
= 2x : 4x : 5x = 2 : 4 : 5
ö›yÝþ xíÅ = 330000 Ýþy„þy

 ö›öìëûîû ¦þy†
2

330000
11

   
 

= 60000 Ýþy„þy

77. (c) •!îû– ²Ì„,þ“þ ¦þ@Ày‚öìŸîû œî = 3x ~î‚ £îû = 4x

“þy£öìœ–
3x 9 2 3x 3x 9 1

4x 3 4x 4x 2

 
   

 6x – 18 = 4x  2x = 18  x = 9
¢%“þîûy‚ ²Ì„,þ“þ ¦þ@Ày‚öìŸîû œî = (3 × 9) = 27

78. (a) •yëÅ›)œÄ = 400 Ýþy„þy
!‹!˜öì¢îû !îe«ëû›)œÄ

= 400 Ýþy„þyîû 75%
75

400
100

   
 

 Ýþy„þy = 300 Ýþy„þy

!îe«ëû ›)œÄ = 300 Ýþy„þy– Çþ!“þ = 20 Ýþy„þy
e«ëû›)œÄ = (300 + 20) = 320 Ýþy„þy

Çþ!“þ 20 25 1
% 100 % 6 %

320 4 4
     
 

79. (b) 2 îŠéîû þ™öìîûîû ‹˜¢‚…Äy

20 25
8500 1 1

100 100

                

6 5
8500 12750

5 4
     
 

80. (b) •!îû– î†ÅöìÇþöìeîû ²Ìöì“þÄ„þ îyý = 10 ö¢!›
“þy£öìœ ~îû öÇþešþœ = (10 × 10) = 100 î†Åöì¢!›
²Ì!“þ!Ýþ ˜“%þ˜ îyý = (10 ö¢!› ~îû 110%)

110
10

100
   
 

= 111 ö¢!›

öÇþešþœ î,!kþ = (121 – 100) = 21%

81. (b)

2
21

x 2
x

   
 

2 2
2 2

1 1
x 2 4 x 6

x x
        
 

2
2 2 4

2 4

1 1
x 6 x 2 36

x x
        
 

4
4

1
x 34

x
    
 

82. (d) ²Ìöì“þÄ„þ!Ýþ ²Ì”_ ¢‚…Äyöì„þ ”Ÿ!›öì„þîû þ™îû ”%£z ‡îû þ™ëÅhsþ !œöì…
þ™y£z ­
1.75, 5.60, 7.00

175, 560, 700 ~îû †¢y= = 35

 ²Ì”_ ¢‚…Äy=!œîû †¢y= = 0.35

83. (d) •!îû– 50 þ™ëû¢y ”yöì›îû x!Ýþ !Ýþ!„þÝþ ~î‚ 25 þ™ëû¢y ”yöì›îû
= (52 – x)!Ýþ !Ýþ!„þÝþ ö„þöì̃ Ð
“þy£öìœ– 50x + 25 (52 – x) = 2225
 25x + 1300 = 2225  25x = 925
 x = 37
50 þ™ëû¢y ”yöì›îû !Ýþ!„þÝþ …îû‰þ

50
37 18.50

100
    
 

Ýþy„þy

84. (b) 12, 15, 18, 27 ~îû œ¢y= (3 × 2 × 3 × 2 × 5
× 3) = 540
‰þyîû xöìBþîû î,£_› ¢‚…Äy = 9999

9999 ö„þ 540 !”öìëû ¦þy† „þîûöìœ ¦þy†öìŸ¡ì = 279

 !˜öì’Åëû ¢‚…Äy = (9999 – 279) = 9720

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 5  ö¢öì²WzÁºîû– 20244

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

85. (b) xy›îûy ‹y!˜ öë–

(12 + 22 + 32 + ... + n2) =
1

6
n(n + 1)(2n + 1)

 ²Ì”_ îûy!Ÿ = (12 + 22 + ... + 102 + 112 + ... +
202) – (12 + 22 + ... + 102)

= (
1

6
× 20 × 21 × 41) – (

1

6
× 10 × 11 × 21)

= (2870 – 385) = 2485
86. (b) (461 + 462 + 463 + 464) = 461(1 + 4 + 42 + 43) =

= 461(1 + 4 + 16 + 64) = 461 × 85

= 460 + 4 + 85 = 460 × 34 × 10, öë!Ýþ 10 myîûy
!î¦þy‹Ä

87. (b) ²Ì”_ îûy!Ÿ–    
   

2 2

3 3

680 320 680 320

680 320

  




 
 
2 2

3 3

a b ab
,

a b

 



öë…yöì̃ a = 680 ~î‚ b = 320

 
1 1 1

a b (680 320) 1000
  
 

88. (b) 40 ‹˜ !î”ÄyíÅ#îû †vþü îëû¢ = 15 îŠéîû
40 ‹˜ !î”ÄyíÅ#îû ö›yÝþ îëû¢ = (15 × 40) = 600 îŠéîû
50 ‹˜ !î”ÄyíÅ#îû †vþü îëû¢ = (15 + 0.2) = 15.2 îŠéîû
50 ‹˜ !î”ÄyíÅ#îû ö›yÝþ îëû¢ = (15.2 × 50) = 760
îŠéîû
10 ‹˜ ˜“%þ˜ !î”ÄyíÅ#îû ö›yÝþ îëû¢ = (760 – 600) =
160 îŠéîû

~£z 10 ‹öì̃ îû †vþü îëû¢
160

16
10
  îŠéîû

89. (c) ›öì̃  „þ!îû– îûyöì›îû öŠéöìœîû îëû¢ = x îŠéîû
“þy£öìœ îûyöì›îû îëû¢ = 3x

îûyöì›îû îëû¢
2

5
 × Sîûyöì›îû îyîyîû îëû¢V

 îûyöì›îû !þ™“þyîû îëû¢
5

2
 × Sîûyöì›îû îëû¢V

5 15x
3x

2 2
    
 

 îŠéîû

!“þ˜‹öì̃ îû ö›yÝþ îëû¢ = (46 × 3) = 138 îŠéîû
15x

x 3x 138 2x 6x 15x 276
2

       

276
23x 276 x 12

23
    

îûy› ~î‚ “þyîû !þ™“þyîû î“Åþ›y˜ îëûöì¢îû xhsþîû

15x 9x 9
3x 12 54

2 2 2
           
   

îŠéîû

90. (a) ›öì̃  „þ!îû– vþz_#’Å Šéyöìeîû ¢‚…Äy = x ~î‚ x˜%_#’Å Šéyöìeîû
¢‚…Äy = (120 – x)
~…˜– 39x + 15(120 – x) = 35 × 120
 39x – 15x = 4200 – 1800
 24x  2400  x = 100

 vþz_#’Å Šéyöìeîû ¢‚…Äy = 100

91. (c) a + b = 15 ~î‚ (a2 + b2) = 113 ö”çëûy xyöìŠé
(a + b)2 = (15)2  (a2 + b2) + 2ab = 225
113 + 2ab = 225  2ab = 112  ab = 56

92. (a) •!îû– !þ™“þyîû î“Åþ›y˜ îëû¢ = 2x îŠéîû ~î‚ ¢%öìîûöìŸîû î“Åþ›y˜
îëû¢ = x îŠéîû

(2x + 20) =
3

2
(x + 20)  2(2x + 20)

= 3(x + 20)
 4x + 40 = 3x + 60  x = 20

93. (d) (P + Q) ~îû 20% = (P – Q) ~îû 50%

 20 50
(P Q) P Q

100 100
     

 1 1
(P Q) P Q

5 2
     

 2(P + Q) = 5(P – Q)
 2P + 2Q = 5P – 5Q

P 7
3P 7Q P : Q 7 :3

Q 3
     

94. (c) •!îû– ëíye«öì› 1 ö„þ!‹– 1 ö„þ!‹ ~î‚ 2 ö„þ!‹îû !›×’
ö˜çëûy £œÐ
•!îû– “,þ“þ#ëû ²Ì„þyîû ‰þyöìëûîû ”y› x Ýþy„þy ²Ì!“þ ö„þ!‹

“þy£öìœ– 126 135 2x
153

4

 


 261 + 2x = 612
 2x = 351  x = 175.50 Ýþy„þy

95. (b) •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x
„þ› þ™%îû&¡ì– öî!Ÿ !”˜ SîÄyhßþy˜%þ™y“þV
8 : 12 :: 24 : x  8x = (12 × 24)

(12 24)
x 36

8


    !”˜

96. (c) A ~îû 1 !”öì̃ îû „þy‹
1

18
  ~î‚

B ~îû 1 !”öì̃ îû „þy‹
1

15


B ~îû 10 !”öì̃ îû „þy‹
1 2

10
15 3
    
 

îy!„þ „þy‹
2 1

1
3 3

    
 

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————

~£z „þy‹ A ~„þy „þöìîûöìŠéÐ
1

18
¦þy† „þy‹ A „þöìîû = 1 !”öì̃

1

3
¦þy† „þy‹ A „þöìîû

18 1

1 3
   
 

 = 6 !”öì̃

¢%“þîûy‚ îy!„þ „þy‹ A ~„þy 6 !”öì̃  „þîûöìî

97. (b) ößþËyöì“þîû !”öì„þ ö˜ï„þyîû †!“þ = 8 !„þ!›/‡ ù̂Ýþy
ößþËyöì“þîû !îþ™îû#öì“þ ö˜ï„þyîû †!“þ = 2 !„þ!›/‡ ù̂Ýþy

ößþËyöì“þîû öî† =
1

2
(8 – 2) = 3 !„þ!›/‡ ù̂Ýþy

98. (b) •!îû– ›)œ•˜ = ` x

“þy£öìœ 8 13 1 81
x 1 x 1

100 2 100 2
            
   

2x 13x 81
16x 13x 8100

25 200 2
     

 3x = 8100  x = 2700
 ›)œ•˜ = ` 2700

99. (d) ‡öìîûîû ²Ìßþi = 8 !›Ýþyîû ~î‚ vþzF‰þ“þy = 5 !›Ýþyîû
•!îû– ÷”‡ÅÄ = x !›Ýþyîû
“þy£öìœ– 2 × (x + 8) × 5 = 220  x + 8 = 22
 x = 14
‡öìîûîû ÷”‡ÅÄ = 14 !›Ýþyîû

100.(b) öÝþÆöì̃ îû †!“þ
250

15
   
 

!›Ýþyîû/ö¢öì„þuþ

250 18

15 5
   
 

!„þ!›/‡ ù̂Ýþy = 60 !„þ!›/‡ ù̂Ýþy

xÄy!‰þ¦þy¢Å


